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Mathematics Mega Quiz For RRB NTPC 

 

Q1. Two buses travel to a place at 45 km/hr and 60 km/hr respectively. If the second bus takes 

5½ hours less than the first for the journey, the length of the journey is: 

दो बस क्रमश: 45 कि.मी/घटंा और 60कि.मी/घटंा िी गति स ेएि स्थान िे तिए यात्रा िर रही ह.ै यकद दसूरी बस यात्रा िे 

तिए पहि ेवािी स े5½ िम ििेी ह,ै िो यात्रा कि िबंाई कििनी है? 

(a) 900 km 

(b) 945 km 

(c) 990 km 

(d) 1350 km 

 

Q2. A car moving in the morning fog passes a man walking at 4 km/h in the same direction. The 

man can see the car for 3 minutes and visibility is upto a distance of 130 m. The speed of the car is: 

सबुह िी िोहरे में चिन ेवािी एि गाडी समान कदशा में चिन ेवाि ेव्यति िो 4 किमी/घटंा पर चिन ेवाि ेव्यति िो पार 

िरिी ह.ै वह व्यति 3 तमनट िि गाडी िो दखे सििा ह ैऔर दशृ्यिा 130मी िि ह.ै िार कि गति कििनी है?  

(a) 10 km/hr 

(b) 6.6 km/hr 

(c) 7 km/hr 

(d) 5 km/hr 

 

Q3. At an average of 80 km/hr Shatabdi Express reaches Ranchi from Kolkata in 7 hrs. Then the 

distance between Kolkata and Ranchi is 

80 कि.मी/घटंा कि औसि गति स ेशिाब्दी एक्सप्रसे िोििािा स ेराचंी 7 घटें में पहुचिी ह.ै िो िोििािा और राचंी िे मध्य 

कि दरूी ह:ै  

(a) 560 km 

(b) 506 km 

(c) 560 m 

(d) 650 m 

 

Q4. To cover a certain distance with a speed of 60 km/hr, a train 

takes 15 hours. If covers the same distance in 12 hours, what 

will be its speed? 

60 कि.मी/घटंा कि गति स ेएि तनतिि दरूी िय िरन ेिे तिए एि टे्रन िो 15 घटें 

िगि ेहैं. यकद वह समान दरूी 12 घंटे में िय िरिी ह ैिो गति कििनी होगी?  

(a) 65 km/h 

(b) 70 km/h 

(c) 75 km/h 

(d) 80 km/h 
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Q5. A car can finish a certain journey in 10 hours at a speed of 42 kmph. In order to cover the 

same distance in 7 hours, the speed of the car (km/h) must be increased by: 

एि िार 42कि.मी/घटंा कि गति पर एि तनतिि दरूी 10 घंटे में ख़िम िरिी ह.ै 7 घटें में समान दरूी िय िरन ेिे तिए गाडी 

कि गति में कििन ेस ेवतृि िरनी चातहए?  

(a) 12 

(b) 15 

(c) 18 

(d) 24 

 

Q6. A man travels 450 km to his home partly by train and partly by car. He takes 8 hrs 40 min if he 

travels 240 km by train and rest by car. He takes 20 mins more if he travels 180 km by train and 

the rest by car. The speed of the car in km/hr is 

एि व्यति अपन ेघर िि 450कि.मी कि दरूी आधी टे्रन स ेऔर आधी िार स ेिय िरिा ह.ै यकद वह 240कि.मी टे्रन स ेऔर शषे 

दरूी िार स ेिय िरिा ह ैिो उस ेदरूी िय िरन ेमें 8 घटें 40तमनट िा समय िगिा ह.ै यकद वह 180कि.मी टे्रन स ेऔर शषे दरूी 

िार स ेिय िरिा ह ैिो उस े20तमनट अतधि िगि ेहैं. किमी/घटंा में िार कि गति ज्ञाि िीतिये  

(a) 45 

(b) 50 

(c) 60 

(d) 48 

 

Q7. A train ‘B’ speeding with 100 kmph crosses another train C, running in the same direction, in 2 

mins. If the length of the train B and C be 150 m and 250 m respectively, what is the speed of the 

train C (in kmph)? 

एि टे्रन ‘B’ 100कि.मी/घटंा कि गति स ेचिि ेहुए समान कदशा में चि रही टे्रन C िो 2तमनट में पार िरिी ह.ै यकद टे्रन B और 

C कि िबंाई क्रमश: 150मी और 250मी ह,ै िो टे्रन C िी गति क्या ह(ैकि.मी/घटें में)?  

(a) 75 

(b) 88 

(c) 95 

(d) 110 

 

Q8. Two donkeys are standing 400 metres apart. First donkey can run at a speed of 3 m/sec and 

the second can run at 2 m/sec. If two donkeys run towards each other after how much time (in 

sec) will they bump into each other? 

दो गध ेएि दसूरे स े400मीटर कि दरूी पर खड ेहैं. पहिा गधा 3मी/सिंेड कि गति स ेभाग सििा ह ैऔर दसूरा 2मी/सिंेड कि 

गति स ेभाग सििा ह.ै यकद दोनों गध ेएिदसूरे कि ओर भागि ेहैं िो व ेएिदसूरे तिन ेसिंेड बाद टिरायेंगे?  

(a) 60 

(b) 80 

(c) 400 

(d) 40 
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Q9. Rubi goes to a multiplex at the seed of 3 km/hr to see a 

movie and reaches 5 minutes late. If she travels at the speed of 

4 km/hr she reaches 5 minutes early, Then the distance of the 

multiplex from her starting point is 

रूबी 3कि.मी/घटंा कि गति स े एि मल्टीप्िके्स में तपक्चर दखेन े िािी ह ै और 

5तमनट दरेी स ेपहुचिी ह.ै यकद वह 4कि.मी/घटंा कि गति स ेचििी ह ैिो वह 5 

तमनट पहि ेपहुचिी है, िो मल्टीप्िके्स और उसिे आरंतभि बबदं ुिे मध्य कि दरूी 

कििनी है?  

(a) 2 km 

(b) 5 km 

(c) 2 m 

(d) 5 m 

 

Q10. A man travels some distance at a speed of 12 km/hr and returns at a speed of 9 km/hr. If the 

total time taken by him is 2 hr 20 min, the distance is 

एि व्यति 12 कि.मी/घटंा कि गति स ेएि दरूी िय िरिा ह ैऔर 9कि.मी/घटंा कि गति स ेवापस आिा ह.ै यकद उसिे द्वारा 

तिया गया िुि समय 2 घटें 20 तमनट ह ैिो दरूी ह:ै  

(a) 35 km 

(b) 21 km 

(c) 9 km 

(d) 12 km 

 

 

Q11. A and B are 15 km apart and when travelling towards each other meet after half an hour 

whereas they meet two and a half hours later if they travel in the same direction. The faster of the 

two travels at the speed of 

A और B 15 किमी िी दरुी पर ह ैऔर वह तवपरीि कदशा एि दसुरे िी और यात्रा िरि ेहुए आध ेघटें बाद तमिि ेह ैिबकि यकद 

वह एि दसुरे िी ओर समान कदशा में यात्रा िरि ेहुए ढाई घटें बाद तमिि ेह.ै ििे गति स ेचिन ेवाि ेिी गति ज्ञाि िीतिये  

(a) 15 km/hr 

(b) 18 km/hr 

(c) 10 km/hr 

(d) 8 km/hr 

 

Q12. A man can cover a certain distance in 3 hours 36 minutes if he walks at the rate of 5 km/hr. If 

he covers the same distance on cycle at the rate of 24 km/hr, then the time taken by him in 

minutes is 

एि पुरुष एि तनतिि दरूी 3 घंटे 36 तमनट में िय िर सििा है, यकद वह 5कि.मी/घटंा कि गति पर चििा ह.ै यकद वह समान 

दरूी िो एि साइकिि द्वारा 24कि.मी/घटंा कि दर पर िय िरिा है, िो तमनट में उसिे द्वारा तिया गया समय कििना है?  

(a) 40 

(b) 45 

(c) 50 

(d) 55 
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Q13. Due to inclement weather, an aeroplane reduced its speed by 300 km/hr and reached the 

destination of 1200 km late by 2 hrs. Then the scheduled duration of the flight was. 

खराब मौसम िे िारण, एि हवाई िहाि अपनी गति 300 किमी/घटंा स ेघटा दिेा ह ैऔर इसिी 1200कि.मी कि दरूी पर 2 

घटें दरेी स ेपहुचिा ह.ै िो फ्िाइट िा तनधााररि समय क्या था?  

(a) 1 hour 

(b) 1.5 hour 

(c) 2 hour 

(d) 2.5 hour 

 

Q14. Three runners A, B and C run a race, with runner A finish 12 meters ahead of runner B and 

18 meters ahead of runner C, in another race of same type runner B finished 8 meters ahead of 

runner C. Each runner travels the entire distance at a constant speed. The length of the race is 

िीन धावि A, B और C एि रेस में दौडि ेहैं, तिसमें A, B स े12मीटर पहि ेऔर C स े18मीटर पहि ेख़िम िरिा ह ैऔर दसूरी 

रेस में धावि B धावि C स े8मीटर पहि ेख़िम िरिा ह.ै प्रत्येि धावि यह दरूी एि तस्थर गति पर िय िरिा ह.ै रेस कि िबंाई 

ह:ै  

(a) 36 metres 

(b) 48 metres 

(c) 60 metres 

(d) 72 metres 

 

Q15. A square playground measure 1127.6164 sq.m. If a man walks 2(9/20) m a minute, the time 

taken by him to walk one round around it is approximately 

एि 1127.6164 वगा. मी. वगाािार खिे िे मदैान में यकद एि व्यति एि तमनट में 29/20मी चििा ह,ै िो इसिे चारो ओर 

एि चक्कर परूा िरन ेमें उसिे द्वारा तिया गया समय िगभग कििना होगा?  

(a) 50.82 min. 

(b) 54.82 min. 

(c) 54.62 min. 

(d) 50.62 min. 

 

Q16. Two pipes A and B can separately fill a tank in 2 hours and 

3 hours respectively. If both the pipes are opened 

simultaneously in the empty tank, then the tank will be filled in 

दो पाइप A और B एि टैंि िो व्यतिगि रूप स े क्रमश: 2घटें और 3घटें में भर 

सिि ेहैं. यकद दोनों पाइप िो एिसाथ खोिा िािा है, िो टैंि िो भरन ेमें कििना 

समय िगेगा?  

(a) 1 hour 12 minutes 

(b) 2 hours 30 minutes 

(c) 1 hour 15 minutes 

(d) 1 hour 20 minutes 
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Q17. A tap drips at a rate of one drop/sec. 600 drops make 100 ml. The number of litres wasted in 
300 days is: 

एि नि स ेएि बूूँद प्रति सिंेड कि दर स ेपानी टपििा ह.ै 600 बूूँद स े100ml बनिा ह.ै 300 कदन में कििन ेिीटर पानी बबााद 

होगा?  

(a) 4320000 litres 
(b) 432000 litres 
(c) 43200 litres 
(d) 4320 litres 
 
Q18. Having the same capacity 9 taps fill up a water tank in 20 minutes. How many taps of the 
same capacity are required to fill up the same water tank in 15 minutes? 

समान क्षमिा वाि े9 नि 20 तमनट में एि पानी िे टैंि िो भरि ेहैं. 15 तमनट में उसी पानी िे टैंि भरन ेिे तिए समान क्षमिा 

वाि ेकििन ेनािों कि आवश्यििा होगी?  

(a) 10 
(b) 12 
(c) 15 
(d) 18 
 
Q19. A cistern is provided with two pipes A and B. A can fill it in 20 minutes and B can empty it in 
30 minutes. If A and B be kept open alternatively for one minute each, how soon will the cistern be 
filled.? 

एि टंिी में दो पाइप A और B कदए गए हैं. A इस े20 तमनट में भर सििा ह ैऔर B इसे 30 तमनट में खािी िर सििा ह.ै यकद 

A और B िो प्रत्यिे एि तमनट िे तिए विैतल्पि रूप स ेखोिा िाए, िो टंिी िो भरन ेमें कििना समय िगगेा?  

(a) 121 minutes 
(b) 110 minutes 
(c) 115 minutes 
(d) 120 minutes 
 
Q20. Two pipes A and B can fill a tank with water in 30 minutes and 45 minutes respectively. The 
third pipe C can empty the tank in 36 minutes. First A and B are opened. After 12 minutes C is 
opened. Total time (in minutes) in which the tank will be filled up is: 

दो पाइप A और B एि टैंि िो क्रमश: 30 तमनट और 45 तमनट में भर सिि ेहैं. िीसरा पाइप C इस े36 तमनट में खािी िर 

सििा ह.ै पहि ेA और B िो खोिा िािा ह.ै 12 तमनट बाद C िो खोिा िािा ह,ै िो टैंि िो भरन ेमें कििना समय िगेगा?  

(a) 12 min 
(b) 24 min 
(c) 30 min 
(d) 36 min 
 
Q21. A Pipe can fill a tank in x hours and another can empty it in y hours. In how many hours they 
together fill it in (y > x): 

एि पाइप एि टैंि िो x घटें में भर सििा ह ैऔर दसूरा इस ेy घटें में खािी िर सििा ह.ै दोनों इस ेएिसाथ कििन ेसमय में 

भरेंग े(y > x):  

(a) (x – y) hrs 
(b) (y – x) hrs 
(c) xy/(x - y) hrs 
(d) xy/(y - x) hrs 
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Q22. Pipe A can fill a tank in 4 hours and pipe B can fill it in 6 

hours. If they are opened on alternate hours and if pipe A is 

opened first then in how many hours, the tank shall be full? 

पाइप A एि टैंि िो 4 घटें में भर सििा ह ैऔर पाइप B इस े6 घंटे में भर सििा 

ह.ै यकद दोनों िो विैतल्पि घटंों पर खोिा िािा ह ैऔर यकद पाइप A िो पहि े

खोिा िािा ह ैिो टैंि कििन ेघटंों में भरेगा?  

(a) 4(1/2) hrs 

(b) 4(2/3) hrs 

(c) 3(1/2) hrs 

(d) 3(1/4) hrs 

 

Q23. Pipe A can fill an empty tank in 6 hours and pipe B in 8 

hours. If both the pipes are opened and after 2 hours pipe A is 

closed, how much time B will take to fill the remaining tank? 

पाइप A एि खािी टैंि िो 6 घंटे में भर सििा ह ैऔर पाइप B इस े8 घटें में भर सििा ह.ै यकद दोनों पाइप िो खोिा िाए 

और 2 घटें बाद पाइप A िो बंद िर कदया िाए, िो शषे टैंि िो भरन ेमें B िो कििना समय िगेगा?  

(a) 7(1/2) hours 

(b) 2(2/5) hours 

(c) 1(2/5) hours 

(d) 3(1/3) hours 

 

Q24. A tank has two pipes. The first pipe can fill it in 4 hours and the second can empty it in 16 

hours. If two pipes be opened together at a time, then the tank will be filled in 

एि टैंि में दो पाइप हैं. पहिा पाइप इस े4 घटें में भर सििा ह ैऔर दसूरा पाइप इस े16घटें में खािी िर सििा ह.ै यकद दोनों 

पाइप िो एिसाथ समान समय पर खोिा िािा है, िो टैंि िो भरन ेमें कििना समय िगेगा?  

(a) 5(1/2) hours 

(b) 6 hours 

(c) 10 hours 

(d) 5(1/3) hours 

 

Q25. A pipe can fill a tank in 24 hours. Due to a leakage in the bottom, it is filled in 36 hours. If the 

tank is half full, how much time will leakage take to empty the tank? 

एि पाइप एि टैंि िो 24घटें में भर सििा ह.ै िि में एि तिद्र िे िारण इस ेभरन ेमें 36 घटें िगि ेहैं. यकद टैंि आधा भरा हुआ 

है, िो टैंि िो तिद्र द्वारा खािी िरन ेमें कििना समय िगेगा?  

(a) 24 hrs 

(b) 48 hrs 

(c) 36 hrs 

(d) 72 hrs 

http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-books/2169/The-Cracker-General-Awareness-History-Geography-Polity-and-others-MCQ-Book-for-RRB-JE-NTPC-RRC-Group-D-and-other-Exams-2019-In-English-Printed-Edition


7 www.bankersadda.com      |    www.sscadda.com       |      www.careerpower.in      |      www.adda247.com 

 

 

Q26. A water reservoir has two inlets and one outlet. Through the inlet it can be filled in 3 hours 

and 3 hours 45 minutes respectively. It can be emptied completely in 1 hour by the outlet. If the 

two inlets are opened at 01:00 pm and 02:00 pm respectively and the outlet at 03:00 pm then it 

will be emptied at: 

एि िि ििाशय में दो पानी भरन ेवाि ेऔर एि पानी तनिािन ेवािा पाइप ह.ै पानी भरन ेवाि ेपाइप द्वारा इस ेक्रमश: 3 घटें 

और 3 घटें 45तमनट में भरा िा सििा ह.ै इस ेपानी तनिािन ेवाि ेपाइप द्वारा 1 घटें में खािी किया िा सििा ह.ै यकद दो 

पानी भरन ेवाि ेपाइप िो क्रमश: 01:00अपराहन और 02.00अपराहन पर खोिा िािा ह ैऔर पानी तनिािन ेवाि ेपाइप िो 

03.00अपराहन पर खोिा िािा ह ैिो यह िब खािी होगा?  

(a) 05:55 pm 

(b) 05:00 pm 

(c) 05:20 pm 

(d) 05:30 pm 

 

Q27. Pipe A can fill the tank in 12 hours and pipe B can fill the tank in 8 hours. A third pipe C 

empties tank in 15 hours. If all pipes are opened together then after 5 hours what portion of the 

tank will be filled. 

पाइप A एि टैंि िो 12 घटें में भर सििा ह ैऔर पाइप B टैंि िो 8 घटें में भर सििा ह.ै एि िीसरा पाइप C टैंि िो 15 घंटे 

में खािी िर सििा ह.ै यकद सभी पाइप एिसाथ खोि ेिाि ेहैं िो 5 घटें बाद टैंि िा कििना भाग भरा होगा?  

(a) 17/24 

(b) 24/17 

(c) 17/120 

(d) 1/3 

 

Q28. Pipe A can fill the tank in 8 hours and pipe B can fill it in 12 hours. If pipe A is opened at 7:00 

am and pipe B is opened at 9:00 am, then at what time will the tank be full? 

पाइप A एि टैंि िो 8 घंटे में भर सििा ह ैऔर पाइप B इस े12 घटें में भर सििा ह.ै यकद पाइप A िो 7:00 पवूााहन पर और 

पाइप B िो 09:00 पूवााहन पर खोिा िािा ह ैिो टैंि िब भरेगा?  

(a) 12:00 PM 

(b) 12:30 PM 

(c) 11:48 PM 

(d) 12:36 PM 

 

Q29. Two pipes can independently fill a bucket in 20 minutes and 25 minutes. Both are opened 

together for 5 minutes after which the second pipe is turned off. What is the time taken by the first 

pipe alone to fill the remaining portion of the bucket? 

दो पाइप स्वितं्र रूप स ेएि बाल्टी िो 20तमनट और 25तमनट में भर सिि ेहैं. दोनों िो 5 तमनट िे तिए खोिा िािा ह ैतिसिे 

बाद दसूरे पाइप िो बदं िर कदया िािा ह.ै पहि ेपाइप द्वारा बाल्टी िे शषे भाग िो भरन ेमें पहि ेपाइप िो कििना समय 

िगेगा?  

(a) 11 min 

(b) 16 min 

(c) 20 min 

(d) 15 min 
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Q30. A water tap fills a tub in ‘p’ hours and a sink at the bottom 

empties it in ‘q’ hours. If ‘p < q and both tap and sink are 

opened the tank is filled in ‘r’ hours; then the relation between 

p, q, r is: 

एि पानी िा नि एि टब िो ‘p’ घंटे में भरिा ह ैऔर िि पर एि बसिं इस े ‘q’ 

घटें में खािी िर दिेा ह.ै यकद ‘p < q और नि और बसिं दोनों िो खोिा िाए िो 

टैंि ‘r’ घटें में भर िािा ह;ै िो p, q, r िे मध्य सबंधं ह:ै  

(a) 1/r=1/p+1/q 

(b) 1/r=1/p-1/q 

(c) r = p + q 

(d) r = p – q 
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